Easy lift youth football goal e Easy lift jeugd voetbaldoel

Easy lift transportable junior e Easy lift jugend fuBballtor

1/6

—» Features:

e Youth football goal transport system
e Air or PU tire with ball bearings

e Lift the goal 110mm

e 2 Left / 2 right systems needed

AIUSp@I'l' EL080_RIGHT\

www.alusport.be
info@alusport.be



www.alusport.be
www.alusport.be

Easy lift youth football goal e Easy lift jeugd voetbaldoel
Easy lift transportable junior e Easy lift jugend fuBballtor

2/6

— Instructions:
¢ Connect the wheel to the lever with all the
parts needed

e Assemble the bolt 'M10x35' to the
'L-Profile' with all the parts needed

e Assemble the wheel / lever assembly to
the L-assembly with the circlips

* Place the lift system on the goal

Weight A
Gewicht = 3 Kg
Poids y

.

s

www.alusport.be
info@alusport.be

AIUSp@I'l' EL080_RIGHT\



www.alusport.be
www.alusport.be

Easy lift youth football goal e Easy lift jeugd voetbaldoel

Easy lift transportable junior e Easy lift jugend fuBballtor

3/6
Index | Quantity Type Dimension
1 1 X Bolt « Bout ¢ Boulon e Bolzen M12 x 120 H
3 X Bolt  Bout  Boulon « Bolzen M8 x 25 g
3 1 x Bolt « Bout » Boulon  Bolzen M10 x 35 g
4 1 x Circlips » Asborgring ¢ Anneau de s(ireté e Sicherungsringe 10 ﬁ
5 1 x Flat profile e Plat profiel ¢ Profil plat  Flaches Profil 30x5 - 180
6 1 X L-profile e L-profiel o L-profil e L-Profil L 80x50x6 - 180
7 1 x Lever cover ¢ Hendelkap ¢ Capuchon levier e Hebelabdeckung 30x5 - 50 ﬁ
8 1 X Lever » Hendel o Levier ¢ Hebel 99x5 - 259 -
o 2 X Locknut ¢ Borgmoer * Ecrou » Gegenmutter M10
10 1 x Locknut » Borgmoer e Ecrou » Gegenmutter M12
11 1 x Nut cover » Moerkap ¢ Capuchon d'écrou  Mutternabdeckung M12 %
12 1 x Shaft sleeve e Asbus ¢ Manchon d'arbre e Wellenhiilse ) 20x7.5 - 95.5 D
13 3 X Sliding nut e Glijmoer ¢ Ecrou coulissant e Gleitmutter M8 IE
14 1 x Spacer o Afstandbus e Entretoises ¢ Distanzmuffe 15x10,2-7,5
15 1 X Spacer e Afstandbus e Entretoises ¢ Distanzmuffe () 25x2.5 - 21.5 %
16 3 X Spring washer o Veerring » Rondelle ressort ® Spannscheibe M8
17 1 Xx Washer ¢ Rondel « Rondelle » Unterlegscheibe M12
18 1x Wheel « Wiel « Roue » Rad 7 260
( )
AluSpe rl eLoso_RIGHT
p www.alusport.be
— info@alusport.be
.

.



www.alusport.be
www.alusport.be

Easy lift youth football goal e Easy lift jeugd voetbaldoel

Easy lift transportable junior e Easy lift jugend fuB3balltor

4/6

AluSpert =oe-ricwm

info@alusport.be



www.alusport.be
www.alusport.be

Easy lift youth football goal e Easy lift jeugd voetbaldoel

Easy lift transportable junior e Easy lift jugend fuB3balltor

5/6

AluSpert =oe-ricwm

info@alusport.be



www.alusport.be
www.alusport.be

Easy lift youth football goal e Easy lift jeugd voetbaldoel

Easy lift transportable junior e Easy lift jugend fuBballtor

6/6

i

( AlUSp @ﬂ- ELOSO_RIGHTN

www.alusport.be

= @}@ﬁ@m@@& info@alusport.be



www.alusport.be
www.alusport.be

